5 : T o

=l

TR
&R EC) TRHOT 94 : 50
Balance of Payment TR I°T : 100

M

)

&)

“)

)

(6)

(7

®

T
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1) FOERAGEES Wole QUM HarRd &1 nfer ang a4 FHaer
37 FIERAISG ISl S3MTAT ARG Ja= AT T Ml Jegd2iiR Tigol 2.

) FIRAS & FTERATGTIET g TehedT 3.

T 39Y
1) Fh 3T SRS 2) th ¥ SRIET
3) T F el Ih 4) T T T R W

Consider statements about Balance of Payment Select the correct statements.
a) Balance of Payment consists of records of all import and exports of country.
b) Balance of trade is a broader term than balance of payment.

Answer options :

1) Only a correct 2) Only b correct

3) Both a and b incorrect 4) Both a and correct

2) HRAT U HAURTAIS TSTT hIUTAT?

1) AT ¥ROT SIITd 0T, 2) Rt Hw=mr 9red St
3) THIT TSTAS e 4) fahes AR

One of the problem of India's Foreign trade is ?

1) Payment of import in rupees 2) Increasing quantity of exports
3) Foreign exchange deficit 4) Unfavourable terms of trade

3) 3 SR A ® FATdHeATde S 3T a) ATIRAIS TIEe e 3™ ToTdTd.
) SR MATaed g SETaeaTdsT SR 39 a) ARG Widge 318 3T oTdTd.
ISR oAl [T/~ g% Ted?

1) %th 3T Ih 2) ®h o IF
3) A F F Sl I 4) T T T TN I ATRT

a) If import is greater than export balance of trade is Favourable.

b) If export is greater than import balance of trade is unfavourable.
Which of the above statement/s is/are incorrect?
1) Only a incorrect 2) Only b incorrect

3) Both a and b incorrect 4) Neither a nor b incorrect

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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4)

FIERAISG ITHEATH QAT [ YRITeT ST,
3) =g W

ENRIECIREIR

&) o< @

FRIGTRT Dol fIa™ SRR 3Mea?

1) ®th 3 2) ®th o
3) %h 3, ¥, & 4 AT
Balance of Payment is divided into

a) Current account

b) Capital account

¢) Financial account

Which of the above statement are correct?

1) a only 2) b only

3) a, b, and c only 4) a and b only

5)

FIERATGTAT ST WIATARIG I I IFAATA?

1) 5 @RTTd

2) Wh BRI
3) &fh YHIUTAISG 983
4) ITeh 3T Al RS il

The items on the capital account of Balance of payments are?

1) Flow variables
2) Stock Variables
3) Changes in stock magnitudes

4) Both stock and Flow Variables

T HHTETS! ST /| SPACE FOR ROUGH WORK

P.T.O.
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6) AT SIreAT S[eaT.

IRIC]) I ICl)

(37) AURAS (i) I T AT AT F v enfor uwatht avq 9 I
EEATAROT

@) g G (i) 3T HRYR SIS <3 A N7 ATSHAT I BIUTR
St}

() TTERAS (i) TERT ST AgaT2Te ST J2MMAIS Aear2nizir gom
IR FIER

O RIEEIREIS] (iv) T2 3T F Fataged

(CORNC) RN CO RN C))

1) iv i i i

(2) iv i i iii

3) i ii iii iv

@ i iv il

Match the correct pair.

List I List II

(a) Balance of trade (i) Import and export of goods and services and unilateral

transfer of goods and services.

(b) Current account (ii) Transactions leading to changes in the financial assets and
liabilities of country.

(c) Balance of payment (iii) All economic transactions between a country's residents
and residents of other countries.

(d) Capital account (iv) Value of exports and imports of country.
@ G (@© (@
(1 iv i iii ii
(2) iv i i iii
3) i ii iii iv
4 i iv ii iii
7) 1991 AT AMYh JHeTAT Jool HRATAT URehIT TSATST Tohll RIS BIdT?
1) $ 4.8 bn 2) $ 5.8 bn
3) $ 6.8 bn 4) $ 7.8 bn
How much of the Foreign exchange reserve left during 1991 economic crisis?
1) $ 4.8 bn 2) $ 5.8 bn
3) $ 6.8 bn 4) $ 7.8 bn

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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8) T iy &7 wraer Syl 99T Hvad o

1) 2002 2) 2003
3) 2004 4) 2005
When special economic zone act was passed?
1) 2002 2) 2003
3) 2004 4) 2005

9) WISIGUHI HIVTAT I I WIATIRIG T3 GIATd Id AT
INEIRRIECINCES 2) ATER
SEIERI 4) I
Which of the following item does not come under visible account in current account?
1) Engineering goals 2) Sugar
3) Banking 4) Gold

10) IR TRTAT TSI H1aA?
1) 3T F fatd hover avg 2) AR SATATHT HAT AT T 3T
3) FATARMeS AT T ARSI 3TH 4) TSR TT
What do you mean by Trade structure?
1) Goods that are imported and exported
2) Nations with whom trade is done
3) International Liabilities created as a result of trade
4) All of the above

11)  HoTAT I TRATHT SATIRAIS ITFS ATEAT?

1) 1975-76 2) 1976-77
3) 1977-78 4) 1978-79
India has achieved positive/surplus balance of trade in which year?
1) 1975-76 2) 1976-77
3) 1977-78 4) 1978-79

12) 37) 1970 AT Ules AT HROT SRR HRogTd 3.
) geT el S[aaues TTaRY= IdTET FWdT v Had Hd.

TIASHUDRT HIOTA/AT [T/~ SRR T_?
1) Th 3T SRR 2) Teh & SRR
3) Vel 3 F T SIS 4) TAGURT Teha! aIER AT

a) First export policy was declared in 1970.

b) Foreign direct investment helps to increase manufacturing capacity of economy.
Which of the above statement is/are correct?

1) Only a correct 2) Only b correct

3) Both a and b correct 4) Neither a nor b correct

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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13) \RATAT M eaTdie 3T arer 2021-22 T :

DY TAT>Y TT>dA 2) L. TH. > 99 > G, TH. T
3) AN > T E > g, T T 4 IT>G TH. T > T T
To which countries India exported the most in 2021-227?

1) U. S. A > U. A E. > China 2) U. S. A. > China > U. A. E.
3) China > U. A. E. > U. S. A. 4) China > U. S. A > U. A. E.

14)  2021-22 A HRATAT AATIHATAIS IRGAT TeT IaRAT HAT Hiel.
1) I > USSR IR > H U > hiddl I Hih
2) FE US> AH > USifGTd I > HISAT F i
3) T USl® > USITHIT 3deT > I > Hiddl F hih
4) USITH 3OS > FE U > A > ST T Hih
Arrange the following items in descending order as per import of 2021-22 is concerned.
1) Gold > Petroleum Products > Crude Petrol > Coal and Coke
2) Crude Petrol > Gold > Petroleum Product > Coal and Coke
3) Crude Petrol > Petroleum Product > Gold > Coal and Coke
4) Petroleum Products > Crude Petroleum > Gold > Coal and Coke

15)  HIOTAT I TRBRT [AGVH T Hges ATI h3vgTd 3ATch?

1) 2016 2) 2017
3) 2018 4) 2019
Foreign Investment Promotion Board was dissolved in which year?
1) 2016 2) 2017
3) 2018 4) 2019

16) WTHIHUSRT HIVTT Tesh ATIRATATAIG Jigdo! WA Idra?

3T) T U< I ) AT gragm

%) fomm ¥) IR TST

) URhIT HEd

) 3A, 9, h, € 2)3A, 49,8, T

3) A, o, 2 4) A, d,

Which of the following items comes under capital account of Balance of payment?
a) Foreign direct investment (FDI). b) Depository Receipts.
¢) Insurance. d) Health services.

e) Foreign aid

1) a, b, c, d 2) a, b, d, e

3)a, b, e 4) a, b, c

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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17) AT qOT A1 &2
1) TS RIS AU Bk Re-e iz
2) Y I TR AR Bk ReFe Rtz
3) WATHY T TRISH SN R RfGery sisiaz
4) &Y RIS AIETEM Bk Ree hIsATaes =T
What is the Full Form of SAARC?
1) South Asian Association for Regional Corporation.

2) South-East Asian Association for Regional Co-operation.
3) South-East Asian Association for Religious Co-operation.

4) South Asian Association for Regional Co-operation.

18) 37) AT IUTIAT 8 TSHATR 1985 sit 4T fagyl, WRA AL FHoATd AT
) I AETOT § TH, TRSIeEE IR,

TIASHUDT HIOTA/AT [T/~ TR MR?
1) Th 3T SRR 2) th & SRR
3) 3 F & Sl IR 4) Thel RIS 18l

a) SAARC has established on 8 December 1985 in New Delhi, India.
b) SAARC Secretariat is in Dhaka, Bangladesh.

Which of the above statement/s is/are correct?

1) Only a correct 2) Only b correct

3) Both a and b correct 4) None of the above

19) <fgyor nfEraTs 3Iuve Y waifua w=oara e

1) 5 % 2017 2) 59 2018
3) 5 5[ 2017 4) 5 SI9 2018
When was the South Asia satellite is launched?

1) 5 May 2017 2) 5 May 2018
3) 5 June 2017 4) 5 June 2018

20) Sehich GIYUTIS & HIVTAT T3l Fafad 3me?

1) 9T 2) s
3) &I, & A, U 4) TS
Bankok Declaration is related to which organisation?

1) SAARC 2) BIMSTEC
3) BBIN 4) SASEC

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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() (RETIT )

(30) AR (i) 1989

@ Hes (i) 1967

COERED (iii) 1997

OEILEED (iv) 1960
CORNC) RN CO RN

M i i il v

@) iv i i i

(3) i il i iv

@ i i i v

Match the correct pair.

(Institution) (Year of Establishment)
(a) ASEAN (i) 1989
(b) BIMSTEC (i) 1967
(c) APEC (iii) 1997
(d) OPEC (iv) 1960
@ @ (© (@
(1) i ii iii iv
(2) iv  iii ii i
3) ii iii i iv
4) ii i iii iv

22) WISIHUhI HIVTAT 237 OPEC HUeH=T TUTdh F ATer?

1) HaR 2) HIeT IRfeAT
3) TR0 4) TH

Which of the following country is not Founding member of OPEC?
1) Qatar 2) Saudi Arabia
3) Iran 4) Iraq

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.



10 RINER R ECIRIREIR

23) 30 H 1963 IATST ST TETET T 32 3Nheh 30T g "3Ntheh Tehdr ToedT (0AU)
T ATOT o,
) 1 STHART 2006 GTLT SAFTA FRR SBR[ HR0ATd AT
TASTRT HIOTA/dT [/ IeT 3me?
1) Fh 3T SR
2) th § SRIEY
3) 3T F  qlgl TR
4) T T T T W
a) In May, 1963, 32 African countries established organisation of African Unity (OAU) at
Adis Ababa.
b) SAFTA agreement came into effect on 1 January 2006.

Which of the above statements is/are correct?
1) Only a incorrect

2) Only b correct

3) Both a and b correct

4) Neither a nor b correct

24)  31) G20 I WUAT <R 1999 T ST,
) RITTET FE € G20 o T ST AT df Fee-T dhd AT G21 A Addo
EiGH
TR HIoTd/dr [TaT=/A Ieh TTea?
1) %t 3 Ih
2) ©h & I
3) 7 T T I g
4T A YR T T TH
a) G20 was Founded in September 1999.

b) European Union became the latest member of G20 and now it is officially called as G21.

Which of the above statement/s is/are incorrect?
1) Only a incorrect

2) Only b incorrect

3) Both a and b incorrect

4) Neither a nor b incorrect

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.



11 EINER R ECIRIEEIR

25) FRY STredT S[eT.

TR T e

(37) T HARATIT (i) TEAMTETE (ATRAT)

@) P b5 (if) STTEFPIR (1)

) Foll g (iii) HrsT (fioH

(©) ARFAH g (iv) =TT (TGN
CORNC)I N CORNC)

1 i ii iii iv

(2) iv  iii i ii

(3) ii iv i iii

4) iv i ii i

Match the pair.

SAARC Institutions Centres

(a) Disaster Management center (i) Islamabad (Pakistan)

(b) Agriculture Center (i) Gandhinagar (India)

(c) Energy Center (iii) Colombo (Sri Lanka)

(d) Cultural Center (iv) Dhaka (Bangladesh)
@ @ (© (@

(1 i ii iii iv

(2) iv iii i ii

(3) ii iv i iii

4) iv  iii ii i

26) 37) 8 IANRE 1967 BT MG LTIAT T,
) 2012 F FTAIFT TRATHT Totoieh YRERTET ST o

TGS BT/ [T/ SRIER 3M8?
1) Hh 3T R 2) th & SRR
3) 37 T ¥ gl IRE 4) 7 § el SRER Tel

a) ASEAN was founded on August 8 1967.

b) In 2012 ASEAN gave status of strategic Partner to India.
Which of the above statement/s is/are correct?

1) Only a correct 2) Only b correct

3) Both a and b correct 4) Neither a nor b correct

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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27) "SRR BT & G WISIHUehT hivTar HRIs Heiad 3Te?

1) 39 ELED

3) AT 4) Ih

"Bogor Goals" term is related to which of the Following organisation?
1) OPEC 2) APEC

3) ASEAN 4) SAARC

o

28) 3N 15 df foorT uRwe ST, <feroT it I Hud ST,
) ufeer forerT afkeg S 2009 72 YRATT 9SS! &l
IR HIOTd/AT [Ta™=/~ I Ted?

1) ®h T Ih 2) %th & Toh

3) T T F Il I 4T ATHTT IH
a) 15th BRICS Conference held at Johanesberg, South Africa.

b) In June 2009, first BRICS conference held in India.

Which of the above statement/s is/are incorrect?
1) Only a incorrect 2) Only b incorrect

3) Both a and b incorrect 4) Neither a nor b incorrect

29) HTHRT (NAFTA) IR HHT SN[ H0ATd ATAT?

1) 1 STHERT 1994 2) 1 STHETT 1995
3) 1 ST 1994 4) 1 SIT 1995
When NAFTA agreement implemented?

1) 1 January 1994 2) 1 January 1995
3) 1 June 1994 4) 1 June 1995

N\

30) et JEHA IR (GCC) THATHT IS 3TR?

1) e (3w 2) ST REere)

3) AT (T95) 4) e (AT srferm)

Where is the head quarter of GCC (Gulf Co-operation Council)?

1) Vienna (Austria) 2) Geneva (Switzerland)
3) Abu Dhabi (Dubai) 4) Riyadh (Saudi Arabia)

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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31)  3Oheh TETEl WTUAT HHT HRoITd T2

1) 9 5[5 2002 2) 9 ST 2002

3) 9 S 1963 4) 9 [ 1963
When was African Union established?

1) 9 July 2002 2) 9 June 2002
3) 9 June 1963 4) 9 July 1963

32) 31 15 A% 2020 s JF 15 AT AFHT RCEP FIRTEAR WTRT hosl.
¥) YR RCEP FRRIRTET HSH ATel.
TASURT HIOTA/dr g/ SeT 3me?
1) Hth 3T R 2) th ¥ SRIER
3) 37 T T el a=IeT 4) T FTT RS

a) On 15 November 2020, all 15 members signed RCEP agreement.
b) India is not a member of RCEP agreement.
Which of the above statement/s is/are correct?

1) Only a correct 2) Only b correct

3) Both a and b correct 4) Neither a nor b correct
33) 1990 =T (RIS Ge<l qe =TS HIA?

1) I ST T WRHT IS5 A EIRIGECRERIG]

3) JUAT HIHAT T THTAIR 4) FIRYE T T e

What is called the twin deficits of 1990?

1) Gold reserves and Foreign exchange

2) Imports and Exports

3) Devaluation of rupee and inflation

4) Deficit in trade balance and Fiscal deficit

34) IMF g hol UTH RISl YR ARBRA BT hob?
1) OR&HRT §€ 0T 39S
2) R FI 20T 39
3) TAX ST TgHET FRIR hes
4) FT (T[N TSTRIATST AV a<d TR I
What did the Indian government do to get a loan from the IMF (International Monetary
Fund)?
1) Gave government bonds as collateral

2) Gave India's gold reserves as collateral
3) Multilateral agreements with other nations.

4) Followed Protectionism of domestic market.

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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35) STHART 1991 T TRATET URhT ISTATST Tl grdT?
1) $ 7 St 2) $ 6 RfeTaT
3) $ 3 [RfeTT 4) $ 1.2 [RfeTT
What was India's Foreign exchange reserve value in January 1991?
1) $ 7 Billion 2) $ 6 Billion
3) $ 3 Billion 4) $ 1.2 Billion
36) 1991 <AT MY IR Rar I =T ST gd?
1) Sf. gHET =& 2) =, 9T, &
3) UT. @I R 4) 9T, RIEERT
Who was India's Finance Minister during Economic reforms of 1991?
1) Dr. Manmohan Singh 2) V. P Singh
3) P. V. NarsinhRao 4) P. Chidambaram
37)  RAT T4 NS TRT R SER FHRogTT 3S?
1) 24 S5 1991 2) 24 APRE 1991
3) 24 S[5 1990 4) 24 PR 1990
When was the New Economic Policy of India announced?
1) 24 July 1991 2) 24 August 1991
3) 24 July 1990 4) 24 August 1990
38) STl TYHERYT T SIPTTAeh TTHTRYAT THIHTHROUMER hIH UM FIRT HIoTd?
1) STRAAAE 2) WETETRROT
O ESIRIGEIE R 4) IS
1) Liberalisation 2) Privatisation
3) Globalisation 4) Protectianism
39) 37) Fedeedl RIRIARUT § RAsT HGRUTIATRT HaTdd 3T,

) TRIITHES FHES © PO SFaRATI=TB Setad 379,

FAGYHT SHioTd/dr [ T sme?
1) %h 3T TRT 2) %<h ¥ TRT
3) 3T 9 F gl a9 4) ¥ 9 ¥ =T ARG TR

a) Macroeconomic stabilisation is related with supply side management.

b) Structural adjustment Programme is related with demand side management.
Which of the above statement/s is/are correct?

1) Only a correct 2) Only b correct

3) Both a and b correct 4) Neither a nor b correct
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40) WISIAURT HIOTAT IUTT FRTOT FGHTIATRN HeTad ATer?

1) WW 2) HAdgRdle) HATISH

3) A AT 4) ST FaRoT

Which of the following is not related to demand side management?

1) Inflation control 2) Balance of Payment adjustment
3) Currency devaluation 4) Industrial reforms

41) A& T AT ATIE HHUT IF HI0ATd NT?

1) 16 ST=ETT 2016 2) 25 <R 2014

3) 5 TS 2016 4) 28 UG 2014
When was the make in India mission launched?

1) 16 January 2016 2) 25 September 2014
3) 5 April 2016 4) 28 April 2014

42) WTAHGURT HITAT HY FUROM AT AT FI HSTSd T2

1) . ST ISAT AT 2) T AT

3) STHAR AT 4) ST, T, . ST, IAHar
Which of the following tax reform committee is related to indirect tax?

1) Dr. Raja Chelliah committee 2) Bhootlingam Committee
3) Rajamannar Committee 4) Dr. L. K. JTha Committee

43) FRBM T (TSThINTT ITRSIAE SM0T TFhed TaRATIT Il HHl HIai-ad Hoard

SATAT?

1) 5 S[c5 2004 2) 5 S 2004

3) 26 3ATRE 2003 4) 26 [ 2003

FRBM act (Fiscal Responsibility and Budget Management act) is enacted on
1) 5 July 2004 2) 5 June 2004

3) 26 August 2003 4) 26 July 2003

44) GTHTHUST HIOTAT ARAN T TRl hedT [TH?

1) ST 92 AfHar 2) [99e ST T

3) Afehd AR AT 4) TR AT

Which of the following committee gave idea of payment Banks?

1) Urjit Patel Committee 2) Bimal Jalan Committee
3) Nachiket Mor Committee 4) Malhotra Committee

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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45) ufge ﬁquuyh ITINT HET WY RO 3TTHT?
1) 1995 2) 1996
3) 1997 4) 1993
When was 15! disinvestment commission was formed?
1) 1995 2) 1996
3) 1997 4) 1993

46) SIPTIdeh AU TEATH IV TR HIAl?

1) ARSI AT fredt

2) HH AP AR T [FhT IRvg
ESINIGENCED

4) ST SMUR F9e-T

Who publishes World Investment Report?

1) International Monetary Fund

2) United Nations Conference on Trade and development
3) World Bank

4) World Trade Organisation

47) 3T) GATT XX 1 STHART 1948 URIT SAGIA 3T
) 9Rd & GATT g WTO o7 HITIsh HSX ITE.
FIAIRT 0T/ T/ ae e
1) %th 3T I
2) th ¥ AT
3) T T T Ial AT
4) T AT AN
a) GATT agreement was implemented on 1 January 1948.
b) India is a founding member of both GATT and WTO.

Which of the above statement/s is/are correct?

1) Only a correct
2) Only b correct
3) Both a and b correct

4) Neihter a nor b correct
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48) WISIAUST HIUTAT AT R T ThRTd AlSd ATar?
INRELIEIS IO GRE L CECISE)
2) R
3) FT H2IIT
4) FsIr
Which of the following subsidy doesn't come under amber box?
1) Minimum Support Price Scheme
2) Irrigation
3) Agricultural Research
4) Energy

49) WRAIYIH IUTIET TR WIHTAUhT BT He[Ud 8r?
1) STETET STAR
2) JTOT =MIR
3) 39T AR

4) Il TR

Sanitary and Phytosanitary measures agreement is not related to which of the following?
1) Food trade 2) Animal trade
3) Medicine trade 4) Plant trade

50 Ehes ARIETAR XATETT R4l SRUATd ST
1) 15 TU 1994
2) 1 STHERT 1995
3) 15 Teda= 1993
4) 1 IR 1948
Dunkel Proposal was signed on ?
1) 15 April 1994
2) 1 January 1995
3) 15 December 1993
4) 1 January 1948
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